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POPMYJIbl ONPEAEJIAETCAH 110
3HAKY ®YHKLUMU B JIEBOM
HACTMU.

y sin(27 —a) = —sina

Sin(ﬂ: -I-OC): —Ssino
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)i’ / tg(7Z'+OC)— ga
ctg(2m —a) =~ Clgx
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3AMULLMTE GOPMY/IbI
MPUBEEHNA

sin(900 - a)z cos

c:os(180O - a): —CcoS

tg(2700 —a): ctgoL
sin(2700 —(x): —Ccos

cos(900 + a)= —sina

sin(3600 — a) = —sina




TPUTOHOME TPAYHECKME
OYHKUNN HYEPE3 YI'OJ1 MEHBLLIE
45°.
sin168° = sin(180" —12")=sin12"
cos123" = cos(90 +33" )= —sin 33"

ig174" = 15(180° — 6" ) = —1g6"
1g263" = 1g(270" —7")= c1g7"

c1g(~380")= - crg(360" +20") = —c1g20"




SAAAHUE 2. YIIPOCTUTE
BbIPA’KEHUE.

3cosa —3cos(360” - )+ cos(90" — a )+ sin(a + 90"

3cosa —3Cosa +SIno +sina =2smm o




3AJAHUE 3. YIIPOCTUTE
BbIPAXKEHME.

—1g132" - c1g228" —cos115" - cos 245"
ctg197" - ctg253" +1g155"tg295"

— tg(90 +42 ) ctg(270m —42° )— 008(90 +25" ) cos(270M —25"

ctg(180" +17")- crg (270" =17" )+ 1g (180" — 25" ). 1g(270" + 25"

ctg42" -1g42" —sin 25" -sin 25"
ctgl7" -1g17" +1g25" - ctg25"

1—sin? 25" _ lcosz 95!
2 2




